[ Efficiency vs vertpos |
0.8

mﬁ%ﬁﬂ
04— ------ +*+++++ .......... ............

8 RS A A% SRS S

efficiency vs vert r

] SO N S0 S

L RS NN R -

fa) 1 INNET] 111 oS,
o LW >
= . .
@ N H H
(ndd B - dikd B b
11111 - <+ |t T BRI e -
I Has - [
o <+ H 4l
: i

102 10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimwP2_epoch4

0.8

efficiency vs vert z
¢ o
(o]

Ratio

T
> o
» o
$
+
» o

0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
0.8

s o e

08  RL

R AL A SR R T 7

efticiency vs Sim. PV z

e

0 e e e
R

o

Hii -H++++++++++++H+.- -----

Ratio

o

°'gzo SIS0 TI0 1520

Sim. PV z (cm)



	Contents
	Page 1


